Precalculus ‘17-18 Name: S DLV o K{; U
PreCalc Basics Test |
Round to 3 decimal places.

Show all work.
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1. Find the equation of the line thru (—3, 6) and (-—7, —1).

2. Show the sign patterns for

/=~2x(3x—5)3(x—5)2
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3. Find the zeros of y=-3x*-19x*—25x%+19x+ 28 by calculator and prove
it by synthetic division.
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4. Use your graphing calculator to find and sketch a complete graph of
f(x)=x*=21x>+43x* —~14x -8, draw it, and state the window used.
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3. Use your graphing calculator to find the zeros and the extremes
of f(x)=x*-21x*+43x* —14x-8.
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9. Show the sign pattern and solve —3x*—19x*—25x*+19x+28 <0. (Note:
This is the polynomial from #2 above)

<\<~—e N, (‘1 ) (1> (B = 7)

10. Show the sign pattern and solve —9x> +18x* +4x—8>0
4 x 7)) +2(x-2)
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6. Find an inequality that has this sign pattern and solution:
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8. Simplify the following expression:
a) y=x*-11x*+18 — (\QL_(Q.\ Cx_z‘rl-)
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